BocbMmoOn ypok

Juanor:

I'pammaTHKa:

Bcé Bpéms O0proch ¢ TapakaHaMu
I’'m constantly fighting cockroaches

8.A: Three New Stem Types
8.b: Double-Stem Verbs
8.B: Other New Verbs of Note

A BCé Bpémsi boplocb ¢ TapakaHaMu
I’'m constantly fighting (struggling with) cockroaches

Buira 1 | Mama, rae ke To1 0b11a? S Te0s xmy Okoso yaca. Twl | Masha, where the heck were you? I’ve been

2 | OmSTH HANMMJIACH BYEPA BEUCPOM? waiting for you for nearly an hour. Did you
get drunk again last night?

Mama (3 |O uém 161 roBoprmb!? ThI 5ke 3HACIIB, UTO TENEPh A | What are you talking about? You know that I
4 | BOOOLIE HE MBIO. don’t drink at all now.

Bita |5 |Hanérock, Tol He Bpémib. ThI ke oberiaina, 4To He 1 hope that you 're not lying. You promised
6 | Oyxenb muTh! that you weren 't going to drink.

Mama |7 |Hert, s He Bpy. UéctHoe ciioBo! [I€mo B ToMm, 4TO B No, I'm not lying. Honest. The thing is, lately
8 | mociémHee BpEéMs s OUCHB IIOX0 cItro. S BcE BpéMst | I haven 't been sleeping well. I'm constantly
9 | 6oproch ¢ TapakaHamu. Kak s ux HeHaBmxky! S fighting (struggling with) cockroaches. I hate
10 | K&XKIBIH A€Hb MOIO II0JI, CHITIIIO SII, HO HUYEro He them so much! I wash the floor every day,
11 | IOMOT4ET. pour poison, but nothing helps.

Bita |12 | [da, s Te6¢ couyBcTByt0. I[lo-MOemy, B Yeah, I sympathize with you. I think they sell
13 | yHHBEPCHTETCKOM Mara3syuHe MpoaarT OueHb really good traps in the u(niversity) store.
14 | XopOmIHe JOBYHIKH.

Mama |15 |4 motiay nmocine o6éna u y3Haro. Eciu ectb, s Kytuiro u | I'll go after dinner and find out. If they have
16 | nist Te6s (Tebe). them, I'll buy some for you as well.

Buita 17 | He H4mo. Benp y Hac HET HUKaKUX TapakaHOB. That’s not necessary. After all, we don’t have
18 | Cimymaif, monuty ¢ HAMU B Kiry0 mocie o0éna. any cockroaches. So, why don’t you come to

the club with us after dinner?

Mama |19 | Mue Hékoraa. [ don’t have the time.

Bira 20 | Kak 310 «nékorma»? Yro ThI nénaemn? Kyma Toi What do you mean “don’t have the time”?
21 | uacup? What are you doing? Where are you going?

Mama |22 |V Mens gena. I have some things to take care of.

Buta |23 | Kakne? What (kind of things)?

Mama |24 |I[louemy ThI Bceraa cyémn cBO¥ HOC B UyKHe T4 Why do you always stick your nose into other
25 | D10 TeOs He Kacaercs. people’s business? This doesn’t concern you.

CnoBapb

9 | 6opd+...cq ¢ + instrumental

struggle with (See grammar for details on this verb type.)

COBA+ CBOM HOC B ubl JEJIa

13 | yHHBEPCHTETCKHIA adjective from yHHBEpPCHTET
14 | noBym/ka (e) trap
24 | coBa+ shove; stick

stick one’s nose into person’s business
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| 8.A Three New Stem Types: O-, Root {O}Ba-, Non-Syllabic A-Stems |

Let’s look at three (more or less) new stem types. One is completely new, while the other two are similar to stems
we saw last year — but with a twist.

8.A.1 O-Stems
O-stems are completely new to us; we did not see a single o-stem last year.

Characteristics of O-Stems:

1) All are 1¥ conjugation (since they’re not -, e-, or ska-ka-stems).
2) All have shifting stress in the present tense.

3) In the s and onn forms (i.e. the endings that begin with {U}), the final stem consonant softens, but
does not mutate. It turns out that the final stem consonant for all o-stems is either p or a1 (and recall
from our discussion of consonant mutation in Lesson 5 that p and a1 can soften, but do not mutate).

< a 7 7 I3 7 7
00po+ ...cH 0op1och, O0pemibes, 00percs, 60peMcs, O0peTech, 00prOTCS
KOO+ prick KOJII0, KOJIelIb, KOJIeT, KOJ1eM, KoJieTe, KOJIOT

There are exactly five o-stems in the entire language (not counting all the prefixed versions), only one of which is

used with any significant frequency: 60p&+ ...cs struggle, fight (for/against). This verb can be followed by three
different prepositions, each of which takes a different case:

1) ¢ + instrumental  fight, struggle against (a problem or a foe)
2) npOTuB + genitive  fight against (a foe — normally animate)

3) 3a + accusative fight for (the cause of)
Bpaun 66proTcs ¢ pakom. Doctors are fighting against cancer.
Bo Bpéms Bropoit mupoBOit Botinbl CoBétrckuit Corto3  During WWII the Soviet Union fought against the
00opoIICS MPOTHB HAIKICTOB (C HAIIUCTAMH). Nazis.
Omn 00peTcs 3a cBOOOTY CioOBa. He'’s fighting for freedom of speech.

To be honest, the difference between 6opé+...cst ¢ and Gopo+...cst mpoTHB can be very subtle, and is really not
worth worrying about.

8.A.2 Root {O}Ba-Stems

In all of the {O}Ba-stems we have seen (3aBioBa+, TaHIEBA+, LEJ0BA+...(cs), etc.), the {O}Ba was actually a
verbal suffix attached to a root. (The exact details are not important.) There are, however, a number of verbs
where {O}Ba is not a suffix; it’s part of the root, which is why we’ll call them root {O}Ba-stems. It turns out that
the only important difference between root {O}Ba-stems and regular, non-root {O}Ba-stems is the position of
stress in the present tense (See details below). Otherwise, root {O}Ba-stems are just like regular {O}Ba-stems.
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Characteristics of Root {O}Ba-Stems:

1) The regular mutation of {O}Ba > {U}ii takes place throughout the present tense (and imperative), just
as with non-root {O}Ba stems;

2) All (and only) root {O}Ba-stems are ending-stressed (i.c. the stress is on the ending itself)
throughout the present tense. (In the past and infintive the stress falls on the a of {O}Ba.) Regular
{O}Ba-stems are never ending-stressed in the present. If a regular {O}Ba-stem has stress on the 4
(e.g. TaHmeBA+), in the present tense the stress will fall on the {U} (of the {U}it), preceding the actual
ending (tannyo). (And, of course, if the stress falls on a syllable preceding the {O}Ba, that’s where
it stays — in all forms).

Root {O}Ba-Stems “Regular” {O}Ba-Stems
Stress Always on Ending in Present | Stress Never on Ending in Present
COBa+ IUIeBA+ Spit TaHIEBA+ 3aBHI0Ba+
CyI0 TLJTIOF0 TaHILYI0 3aBUAYIO
cy€b TUTEFOETIIb TaHILyellb 3aBUAyeEIb
cyér TUTEFOET TaHIYeT 3aBHyET
cyéMm TUTIOEM TaHIyeM 3aBHyeM
cyére mroére TaHITyeTe 3aBAAyeTe
CYIOT TLTIOOT TaHIYIOT 3aBUAYIOT

So, when you seen a stem in -oBa+ or -eBa+, you need to determine whether the {O}Ba is a suffix or part of the
root. Ifthe {O} is the first vowel in the stem (not counting any prefixes), then it’s a root {O}Ba-stem; otherwise
it’s a regular, non-root {O}Ba-stem. It’s normally pretty obvious which is which.

8.A3 Non-Syllabic A-Stems: No Consonant Mutation After Vi+viy?

In Lesson 5, we described a-stems (e.g., mica+, ckasa+, cBIma+, maka+, etc.), where consonant mutation occurs in
all forms of the present tense (and in the imperative, as we’ll see later). There is another group of verbs whose
stems also end in a, but which do not undergo mutation after V+V truncation. We will refer to these as non-
syllabic a-stems because, as should be obvious, their stems do not contain a syllable — leaving out the a, of
course. We actually saw several of these verbs last year: e.g., naa+ ' wait and Bpa+ lie; tell untruth. We did note
last year that the expected mutation of 1 > s does not take place in saa+, but we never said why. Now you know.
(Note also the p in Bpa+ remains hard after V+V truncation — at least before the endings in y.)

Characteristics of Non-Syllabic A-Stems:

1) No consonant mutation or softening (before endings in -y) after V+V truncation.

2) Many non-syllabic a-stems have shifting stress in the past. (More details when we get to the past
tense. In any case, the ~ gives this away, since shifting stress in the present tense is always in the
other direction, from the ending in the s-form to the stem in all other forms.)

"You maz have %uessed alreadz that the ~ indicates shifting stress in the East tense. See below for more details.
8-3



pammaTuka 8-1 ypok
___________________________________________________________________________________________________________________________]

Non-Syllabic A-Stems: Regular A-Stems:
No Consonant Mutation or Softening Consonant Mutation Throughout
KA+ Bp2>1+ Ca+ IUIaKa+
KLY BpY 10020010 TUTATY
SKOEIIE BpéENIb IIALIENTE IUIAYEIb
KIOET BpET [MALIET [UIAYET
KIEM BpEM [TUIIIEM IUTAYEM
Kaére BpETE [TUIIIETE [UTAYETE
KIAYT BPYT MUY T TUTAYYT
8.A3a Reclassifying Two Double-Stem Verbs as Non-Syllabic A-Stems

Last year we saw the following two verbs, which we classified as double-stems: {6ep+'/ 6pa+ } take (imperfective)
and {30B+"/ 3Ba+ } call, as in Mensi 30ByT Cama They call me Sasha. Tt turns out that we need to re-classify
these two verbs as non-syllabic a-stems, both of which have a cluster buster (e for 6epa+; o for 30Ba+) in the
present/imperative forms. Our reason for reclassifying these two verbs has nothing to do with any of the forms
we have learned so far; it’s related to certain participles, which we won’t cover until the end of the semester. In
any case, here are the forms:

Two Reclassified Non-Syllabic A-Stems
(With Cluster Buster in Present)
Gepa+ (e) 30Ba+ (0)
Present Present
Oepy 30BY
Oepémb 30BEIIb
Oepér 30BET
Oepém 30BEM
Oepére 30BETE
OepyT 30BYT
Imperative Imperative
oepu/te! 30BH/TE!
Past Past
Opan 3Ba
Opana 3BaJIA
Opamu 3BAH
Infinitive Infinitive
Opatb 3BaTh
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?

‘ Questlon Why do you even need a cluster buster in these two verbs? After all, it’s no |
more difficult to pronounce opy, 6peT 3By, 3BET than Bpy, BpET or XKy, ®KIAET. |
These last two stems Bpa+ and »xxa+ are fine without a cluster buster in the |
present. :
I |
| Answer: Excellent question, and once again, you are correct. But the forms of Gepar+ (e) |
E and 30Ba+ (0) do have an inserted vowel in the present (and imperative), while
i there is no vowel in the infinitive and past. And there’s very little chance that !
| |

this will change in the near future. Yro >xe nénats?

@ Give the s, Bbl, and o forms of the following verbs. (Some have a direct object added.):

< , ; 9 . ) > ’
1. ©Oopo+..csl ¢ TapakaHAMHU 2. coBa+ CBOIl HOC B UyXHe JieNd 3. Kma+ OKOJIO yaca
4 4 , >
4. xopowd TaHlEeBa+ 5. xond+ ..ca shoot up drugs 6. HHUKOIZA HE Bpa+
’ , > r J ’ r
7. TpOMKO keBa+ chew 8. Oepa+ () kuury u3 OMOIUTEKH 9. TApKOBA+ MAIIHHY

8.6 Double-Stem Verbs

For some verbs, it is not possible to posit a single stem from which all forms (present, past, infinitive, imperative,
etc.) can be derived. Instead, normally fwo stems must be given, one for the present tense and imperative, the
other for the past and infinitive. Recall our notation of enclosing double-stem verbs in { / }, where the stem to the
left of the / is used for the present/imperative, while the stem to the right of the / is used for the past/infinitive. A
reminder of a few double-stem verbs which we had last year.:

present~imperative / past~infinitive

{oTKpOii+ / OTKPBI+} open {ubii+ / ma+ } drink {6ym+ / 661+ } be; will

The stem on the left almost always ends in a consonant (3akpoii+; meii+; 6y1+) to which endings beginning in a
vowel (or @ for the 1mperat1ve) are added: C+V. On the other hand, the stem on the right (almost) always ends
in vowel (mi+ ; MEL+...cs1; 651+), to which endings beginning in a consonant are added: V+C. Thus, in nearly all
environments, double-stem verbs are stable and harmoniously attach all endings.

The biggest difficulty with double-stem verbs is, of course, learning the two different stems. In the next section
we offer a little help with this.
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8.5.1 Identifiable Patterns Within Double-Stem Verbs

We can identify three different groups of double-stem verbs that share the same alternation between the two
stems. We list the basic stem first, followed by any prefixed forms of that stem.

{-6it+ [-E14} {-bit+[-1+) {-ait+"] -aBaii+)

{MOii+...(cs1) / Mbi+...(cs1)} bathe | {ubit+ / i} drink {naii+" / naBaii+} give
{Hanmpi+..cs1 / Han;I+.Cﬂ}

get drunk

{oTnmaii+" / oTnaBaii+} give away
{kpOii+ / KpbI+} cover {mponaii+" / mponaBaii+} sell
{OTKpOIi+ /OTKpPEI+} open {3amaii+" / 3amaBaii+} pose (question)
{Obii+" / OVI+ } beat

{yObit+" / you+} kill

{3aKkpoii+ / 3aKpEI+ | close {cmaii+’ / cnaBaii+} mwrn in

{-craii+" / -cTaBaii+} always prefixed

For reference

For reference {BcTaii+  / BcTaBal+} get up

[V > . .
{BOIt+ / BRIt} howl bt /e pour liquid {nocraii+" / moctasaii+} obtain

{HOW+ / HEI+}  moan {Ibits” / I} sew {ocraii+’...cs1 / ocTaBal+...ca1}

(poit+ / pEr}  dig {BB+" / BU+}  twist remain

{3Haii+" / 3HaBaii+} always prefixed

{y3Haii+" / y3HaBal+} recognize

g@ Give the 51/ Bbl / oH1 forms:

1. give him money (present) 2. Dbathe (oneself) every day 3. will get drunk tomorrow
5. will kill Marta 6.

7. sell drugs HapKOTHKH 8.

4. will close the window usually get up at 7:00

often drink red wine 9. obtain the tickets every week

8.b.2 The Other Double-Stem Verbs

We’re sorry to say that the other double-stem verbs cannot really be classfied into any identifiable groups. In a
few cases there are some basic similarities between two verbs. For example, both {csin+ / cén+} and

{asir+ / nér+} contain the letter ‘a1’ in the present/imperative stem and end with a consonant in the past/infinitive
stem). Other than that, there are not any very useful tips. ® Here are the other double-stem verbs:

Other Double-Stem Verbs
{6y 1+ / b} be; will
{moii+" / mé+} sing
{BO3BM+"/ B3sI+} take (perf)
{én+/ éxa+} ride; go
*{Haun+'...(cs1) / Haud+ ...(cs1)}  begin

*{mpum+" / IpAHA+)
{can+ /cém+}

{nsir+ / nér+"}

accept; take
sit down

lie down
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*We’ll discuss the stress in the past tense and infinitive of these two verbs later in the course. Note that the
present tense (actually future) mpum+" has shifting stress even though the stem ends in a consonant. The only
other such verb we have seen is mor+".

8.5.3 Chaos in Double-Stem Verbs

As we mentioned above, in nearly all instances, endings are harmoniously attached to double-stem verbs: C+V
(present and imperative) or V+C (past and infintive). In the present tense (and imperative) there is just a single
exception, the verb {cmm+/ cna+} sleep, where the stem on the left ends in a vowel, leading to V'+V?> V?
truncation and mutation in the s-form. The present tense itself is a perfectly regular u-stem:

{cnu+/ cna>+} sleep

Present
CILTO
CIIHIIb
CIIUT
CIIUM
CITUTE

CIIAT

Imperative

cru/te!

Past
cran
crana

cIianu

Infinitive

CIiaTb

When we discuss the formation of past and infinite we’ll see a few double-stem verbs with choatic C+C
combination, but that is not of concern here.

@ Give the a1/ mbl / oHn forms:

1. sing Russian songs 2. will take the money 3. will take a shower after dinner

4. sleep on the floor 5. amriding to Moscow 6. will soon start the lesson

7. will sit down on the sofa 8. will be at Nina’s 9. will lie down (go to sleep) at
2:00
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2<  YnpaxHénne 1 OTBéTbTe Ha BONpPOCHI

1. Explain what is unusal about the past/infinitive stem for the verb lie down ({asir+ /mér+"}).

2. List (from memory!) the three most commonly found alternations within double-stem verbs. Give one
example of each type.

2< Ynpaxunénue 2  Fill in the chart (No looking!)

sleep take (perfective) (Not the verb take | wash (intransitve, impefective)
a shower)

Stems: Stems:
Stems:

s st s

BBI BBI BBI

OHH OHU OHHU

lie down (perfective) drink take (imperfective)

Stems: Stems: Stem:

s st s

BBI BBI BBI

OHU OHU OHHU
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JomawHee 3apaHue

struggle give (imperfective) accept, take (a shower) (perfective)
Stem: Stems: Stems:

s s st

BBI BBI BBI

OHU OHU OHHU

shove sing get up (impefective)
Stem: Stems: Stems:

s st s

BBI BBI BBI

OHH OHU OHHU

sit down (perfective) lie; tell untruth (imperfective) be

Stems: Stem: Stems:

s s s

BBI BBI BBI

OHH OHU OHHU

2< YnpaxHéHue 2 [lepeBeamnTe Ha PYCCKMIA:

1. He always sticks his nose into my affairs.
2. My roommate works in the u-store.
3. The government is struggling against crime (abstract notion).

8-9




